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‘ DIRECT TAXES
Paper — 304
Full Marks — 80
‘Time — Three héurs v

The figures in the margin indicate full marks
" for the questions.

Answer either in English or in Assamese.

%ﬁwmmwﬁm@ww:

1. (@) State whether the statements are True or
False : : - 1x5=5

@%ﬁaww G{Wﬁi?cmwﬁ

(1) The rate of income tax for a given year
is fixed by the Finance Act passed by the
Parliament.
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(ii) Rent of agricultural lands is agﬁcultui‘ |
income. ; '
,jsf% R AR iRt e s

IO |

(iv) Income from house property is'char.ge-
able to tax on the basis of receipt of
actual rent. |

UPO T OM 2T eolve Rfe IR, g
TG P11 R a9 Fiwelet 2 |

v) Gif’c' réceived on the occassion of |
marriage is not chargeable to tax, =
R BoeTes - cottar Botars o) T2

(b) Fill in the blanks with appropriate word :
x4

 ORE T AR AT ST ey
(i) The basis of charge of salary income is
as per section of Income Tax Act,

TR SIS B9 QAOR R Srme Wiz
— 939 ¥_ie® WWI
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(ii) Income from other sources is included

under —— head of income.
S BN A (@ S —— fFrees
SeYE

(iii) Deduction out of gross total income is
allowed to individuals and only.
o1 ITSREE TE —— 9T T o]
AR TS [N I SR

(iv) A - has to pay tax only on those
incomes which are received or accrues
in India. . _ ¢

RG] , SIISITS (ol LT SRS
IS 8oTe 9 ARy FF |

(v) Agricultural income is fully exempt from
-income tax under Section —— of
Income Tax Act.

SIERT W —— AT A RPN

FhRers oiw T~ 79 & |

Write short answers to the following in about 50
words each : j 2x5=10

Aim 5051 * fSove FHenre @ifech! e v Teq

Ty sl :

(a) Write the meaning of ‘previous year’ as per
Income Tax Act.
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(b) Mention any two items of 'general inco
under the head "Income from other Sourc

IR SR R Rl S ek
R @ 53Ry T S S

(¢) Mention any two perquisites ‘which
taxable for all employees.

perquisites Btz 4 |

(d) Explain the meanmg of 'long term caplt"

gains.'

ERIGIE G R (G R

(e) State the meaning of 'agricultural income' a
per Income Tax Act.

3. Describe briefly any four of the following :
5x4=2()
©eTS ﬁzm« R mﬁm 5% Rged fran ¢

~(a) What is PAN ? How can it be procured a‘
per the provisions of the Income Tax Act

PAN%?WWWWW
@‘Cﬂ?ﬁ?'«’f\éﬁaﬁas’ﬂﬁ%
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(b)

(c)

(d)

(e)

®

Define 'Net Wealth' under the Wealth Tax Act.
m@mwﬁawﬁ ‘om Tife’s wcwl Tl

Explain the procedure of 'Regular assessment'
under Income Tax Act.

'WWWW«WM?W@W
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Explain the manner of computation of tax
implication of 'profit and gain from business-
and profession'. -

quﬁﬁwmm—’aeﬂa— mm
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Define 'Resident' and 'Non-resident' under
Income Tax Act.

WWWW W“@aﬁwwﬁ\w
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Explain the provisions of the Income Tax Act
regarding 'tax deducted at source' from salary
income of an individual.

TAFT e SFPIR 9o G wEwNE SRS o[
TS T T JRER T |

What are the various modes of assessment
of income tax as per Income Tax Act, 1961 ?
Discuss in detail. 10

1961 WWWWWﬁW‘TWA
mﬁﬁmﬁs% ? Rots sl
34| |
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: : A Rs. 1,05,000 p.a. The fair rent of the
What is meant b}' Annual value of a hou house is 1,09,000 p.a. The house was self
property ? How it is determined ? | occupied for 2 months and rent for 2

PR ey RS TT et & got 2 months is outstanding and there is no

(T e w2y o -chance of its recovery as per rules.
Municipal tax paid Rs. 7,000.

‘ ; Compute the net annual value for the
(b) State the deductmns available from Gro‘ AsseI:smEnt year 2015-16. S et

T>ife GO e | fzen 10,000, Bl
TICO! Ol ra e | BN IR TS SEmEe
80,000, Tl wiw ARG AT ©E A
standard rent 1,05,000 5t | <IN QIR
U o[ Ter 1,09,000 5

Rer® s|foT 7 72 I A M T
e TR sRE Wi 12 W 7 o[l
SAIRCe I BfReT | FEs PR 1R q8 e
T ORI RN (I SRS AR T 59
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Define 'Asset' as per Wealth Tax Act. What

are- the components of exempted wealth :"
per Wealth Tax Act ?

TG T Wi SR ez i _ e
SomiTE B B o Wﬁ%,j,OOO 5l | ]
- & | 2015-2016 F=fae=IST 399 IR _EIR o7
(¢) (i) Mr. R. Saikia of Guwahati is the owner AR U W w1

of a house property in Guwahati. The
- house is let out at a rent of Rs. 10 000
p.m. Its municipal valuation is
Rs. 80,000 pa and standard rent i§

(i) State the procedure of filing return by an
individual assessee. i
a9 AN (i W A
7IRE TR =S Teed |
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Or / 5=

State the deducti_ons available
Gross Total Income under Section 8
of the Income Tax Act. '

,Wwﬁasocm—wﬁﬁ@w

(d) Servant allowance Rs. 500 p.m
AR 6 Wz 500 T

(e) Bonus for the year Rs. 70,000
| q=aBi 1@ <G 70,000 T

(f) Commission received Rs. 30,000 |
elie <SRG 30,000 T |

(g) Free furnished accommodation to him
for which the employer paid a rent of
5,000 p.m. :

(0T SRIRSN THRRAE ¥ T={ I
5,000 5 99 ot SifReiy SRR |

year 2014~15 he recevied the followir
payments from his employer :

F. e warite «5t I STl
T 2014-15 RS T27w (08 R
1 oS e Bt A3 ¢
(a) Basic salary Rs. 12,000 p.m
G RIS 12,000 B!

(h) Employer's contribution to Recognised
Provident Fund @ 13% p.a on basic.

: ‘ fro et wos REmwsz I
(b) Dearness allowance Rs. 10,000 p‘.m RN 89U AT 13% e %1

ST e WS 10,000 5 (i) During the year (previous) his employer
deducted Rs. 2,800 as Professmnal tax

from his salary

PRSI T|© (€] ﬁmmﬁ (AR
VAR 71 2,800 T 6 T oA SRR |
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(c) Entertainment allbwance Rs.  1,500 p'-
SRS W6 e 1,500 5l
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- Compute hlS income from salary for the
relevant assessment year. 10

TS ePl T AT T I® cods
TRE AN Q[ S Refm =0 |
Or / 9=y

Define 'perquisite’. Discuss the perquisites
taxable in case of all employees. 10

Perquisite’s ceat et s =
FHRT CFare [ perqulslte'a R
() D)) WI
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